
Parts
2 ea. Rods 
2 ea. right rod ends
2 ea. left rod ends

Hardware
8 ea. 5/16” washer
4 ea. 5/16”-24x 1 1/4” bolts
4 ea. 5/16”-24 nuts

Phone (209) 400-7200  Fax (209) 943-7923  www.wildhorses4x4.com

Windshield Frame Brace
#4207     Date 12/17/05 rev. 3

Instructions: The windshield braces are intended to be installed from the windshield frame to the front part of your roll bar. 
They are adjustable  and could be mounted in different positions. We prefer to mount them on the outside bolt holes of the 
windshield frame. For installation into your roll bar, position the brace where you want  it and mark the spot to drill a 17/64” 
hole. Tap the hole using a 5/16”-24 tap. The braces are zinc plated so painting the hex tube for rust protection is optional. 
Bolt the brace to the roll bar and to  the windshield frame. Tighten the jam nuts. 
Optional: Because many roll bars are only .120” wall  you may choose to weld 2 of the 5/16” nuts to the spot on the roll 
bar where you will mount the braces. This will give more support to the bolts which hold the brace to the roll bar. This is the 
preferred method for mounting the braces for that reason.


